Efficiency vs P,

T

o A T F
S e
T N
=] : : :
- T N

g
04—%E ............ ___________ ____________

02 L S— A

JERRY . SUFTI RV T
=1 B T .
© r + N N 1
o b g e
||| T | 4[|
E ol : TLLE
0.95
10 1 10 18 & 8
p, (Ge
[—=— DQM original_StepZ_Tbar-phasel-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
= 1.2
" L
>
>
g 1 ................................................
0 [ M*ﬂ
° [ #*h *{z " »“ **H
= L
O 0.8 g i d b e
el
T
o

Efficiency vs ¢

(=3 1_ ................ T
> **‘###*‘H'# "'** +#*++*¢+ *”*
T 0.8 # ----------------------------------
N

o
fe))
I

©
>
f




	Contents
	Page 1


